FgArea: ['W1']
NC11 P6
2025-06-11 (Day 67)
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Plot [['EcFgro’', 'EcFzExp', 'EcPltng’, 'ECdef’, 'water_ec’]]
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Plot [’ ECopt’]
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Plot Sensor and FgRec Data
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Plot [['I", "lopt’], ['T, "Topt’], ['RH, 'RHopt'], [ ETcl’, 'optETcl’], 'LAI', ’optEtRate’]
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Plot [[ setVI _ETcl’

"setVI| _fgRec’, 'setVI VN, 'slSetVI']]
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Plot [['ECC:b—0’, 'FVIEC:r—o', 'ECl:g—0o']]
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Plot [['FVOEC:r-o’, 'ECO:g—o’]]
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Plot [['PHC:b—o', 'FVIPH:r—o,

"PHI :g—o’ 1]
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Plot [['FVOPH:r-o’, 'PHO:g—o’]]
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PE6AW

Bfig) | GEBATK (RY) | EHRE (EA/K) | ERERE (B/R) | XS R
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09:45 300 150. 0 0.294 E(  FiHRe09:45 KEFEF (GRAEREE)
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10:45 300 150.0 0.294 & FiHfe10:45 KRFIEF CREERES)
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P6AW_W1, Day=67 (2025-06-11)
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PE6AW

BfiE) | GEBATK (RY) | EHRE (EA/K) | ERERE (B/R) | XS R

08:30 308 150.0 0.294 |Z=| 1Ri%e08:30 Bz (KREEZEHE)
09:30 308 150.0 0.294 |Z=| 1Ri%e09:30 Bz (REEZERE)
10:35 308 150.0 0.294 |Z=| 1Ri%e10:35 B (REAZBSE)
11:15 308 150.0 0.294 |z =| 1Ri%e11:15 Bz CGREEZERE)
12:00 308 150. 0 0.294 [ =| 1BIge12:00 Bzh (REEREE)
12:45 308 150.0 0.294 [ =| 1BRige12:45 Bzh (REERESE)
13:30 308 150. 0 0.294 |/hfl| 1Ri%@13:30 B (REEZERSE)
14:05 308 150.0 0. 294 FA| 1BRi%@14:05 B3h (RAEREE)
14:40 308 150.0 0.294 FA| 1BRi%@14:40 B3h (RAHERSE)
15:15 308 150. 0 0.294 |z =| 1Ri%e15:15 Bz CGREEZERE)
16:10 308 150.0 0.294 |Z x| 1BRige16:10 Bzl (RAERESE)
16:45 308 150.0 0.294 |Z=| 1Ri&e16:45 Bzl (GREAEEE)
24t 3696.0 (12%) 1800. 0 32K EC: 2080.0, PH: 6.5

AREMTERA (0.91) , BFEE
EORGEBIREE RN (0.62 vs 0.91), AIREE B AREES EEIEESKERE

FERRHLER 2 STREAERTF (554.0 :
LORGEBRBTE R IR FE ALY (900 vs 300.0))
2RI\ BRI RE450. 0 ml.
BE X i3 B R ECET 1B Hh ok .

#H[EKECE (2173.0 vs 4570.0) 5
REREBHHEREC/PHESR KL, ATREIMIEELRE

450.0), AIEEKREBERME
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150 A
100 A

50

(¢
600
400 A

200 -

Vi, V%RV, ET - VI, VO, FVI, FVO, FRV, ad jFRV, ET

27
260, Warning: lcol [FVI',| "FVO’'] missing
| B

maxM

1.0

0.8 A

0.6

0.4+

0.2~

Warning: lcol ["WC1',  "WC2'] missing

7.0

5.5 1

=
(]

6.5 = e e e e 3
’\. ° o ®
> > > X

6.0 1

optEC0=2600. 0, setECB=2080.0 —%—  ECB*10%
([ ECC

optPHO=6.5, setPHB=6.5 o —>—  PHB*10%
o PHC

w
a1
©
S
T
S
[=]
o
o

a9¢f 2000

FRV — MW By

1
600 & By nit @D67 02:07: ET=1041 Fg=1040.0 Ro=38.0 F 3000

400

200

() Pre—

| S

P 1800 0 0 N

- 2000

*—@ @ © © - 1000

0 1 2 3 4 5 6 7 8 9 10 11 12 13 14 15 16 17 18 19 20 21 22 23

07 0 1 2 3 4 5 6 7 8 9 10 11 12 13 14 15 16 17 18

ByEt @65 19:34: ET=1405 Fg=2392. 0 Ro=nan —o——0—©

55|55 |(%=| KB | KB | KB | B | B | W | W [ W [m [/ [ | BB | W | W | K| B |B|K|[K[H| K 3000

- 2000

- 1000

20 21 22 23

400

200

1.0 A

0.8

0.6

0.4+

0.2~

19
ZE|ZE|(Z=| W | BB | W [ B I ZR[(ZR|EE(ZR|ER(Za|)W| B |ER|(ZE|EE |2 (2|25 (25| B [ B

- 3000

I
ByWoFv @I>D67 02:07: ET=1490 Fg=1800.0 Ro=506. 0
! L 4 4 4

- 2000

- 1000

21 22 23

ZE|ZE(Z=| W | BB | W [ B I ZR[(ZR|EE(ZR|ER[(Z|)W| B |ER|(ZE|EE |2 (2|2 (2| B [ B

—_—
o | _obs
—@— PPFD_obs

Py ® VP

FRV (ml d-1)

cumET (ml/plant)

cumET (ml/plant)

cumET (ml/plant)



0l —e— M i
35 -
T T T T T
400 600 800 1000 1200
m=760,m FV0=0
—— MW
28
26 -
24
22
20 -
18
T T T
760 765 770
m=905,m FV0=0
—— M
29
28
27 |
26 B T T T
905 910 915
m=945,m FV0=0
29 —— nu
28 -
27 |
26

945.0

947.5 950.0 952.5 955.0 957.5
m

12.

12.

12.

12.

12.

m=390, FV0=0

20 A

15

10

05 -

00 ~

—— MW

3é5 460
m=820,n FV0=0

T
390

30 A

28 -

26 -

24 A

22 A

—— MW

i
<?

8é5 850
m=910,n FV0=0

29 -

28 -

—o— MW

i
i

27
26

910 915 920

m=1020m FVO0=0

297 —— MW
28 -
27 1
26 -

1020 1025 1030

25

22

20

17

15

12

28.

28.

21.

21.

26.

26.

25.

.01

.54

.04

.51

.04

.9 A

27 A

26

25 -

24 -

23 A

22 -

29 A

28 -

27 A

26

m=5390, FV0=0

—— MW

5%5 5é0
m=880,n FV0=0

—— MW

8é5 850
m=920,n FV0=0

—— MW

955 950
m=1025m FV0=0

- MW

i

1025 1030 1035

m=630, FV0=0

28 A

26

24 -

22 -

20 A

18 A

M_W

655 6&0
m=895,n FV0=0

630

29 -

28 -

27 -

26 A

-o— MW

T T
895 900 905

m=935,m FV0=0

29 A

28 -

27 A

26

—— MW

9&0 9&5
m=1045q FV0=0

935

28.5 -

28.0 -

27.5 -

27.0 -

26.5 -

26. 0 -

-o— MW

1045

1050 1055




28.0 A

27.5 A

27.0 -

26. 5

26. 0

25.5

m=1065, FV0=0

—0—

M_W

T
1065

T
1070

T
1075

m=1125, FV0=0
—— MW
40 -
35
30 -
25 T T T
1125 1130 1135




hour

10:
11:
11:
12:
12:
13:
13:
14:
14:
15:
15:
16:
16:
17:

© 00 N N

40

40

§_

100

80

- 60

- 40



PE6AW

BfiE) | GEBEETIC (7)) ERE (EA/K) | EREE (F/R) | XK R

07:20 600 150.0 0. 294 = {Rig@07:20 Fzh (RAERSE)
07:50 600 150. 0 0. 294 E 1BRi&e07:50 Fzh (RAEREE)
08:35 600 150.0 0.294 5| {Ri%@08:35 F 3 (FAERSE)
09:10 600 150.0 0.294 & 1Rie09:10 Fz (KREAERE)
09:40 600 150. 0 0. 294 E 1BRi&e09:40 Fzh (RAEREE)
10:10 600 150.0 0.294 5 {Ri%e10:10 F3h (RAERSE)
10:40 600 150.0 0. 294 = RRiB0@10:40 Fz (RFAEEE)
11:10 600 150.0 0.294 Sl Rige11:10 Fzh (RAERSE)
11:40 600 150. 0 0. 294 = RiB011:40 Fzh (REAEESE)
12:10 600 150.0 0.294 =l Rige12:10 Fz1 (RAERSE)
12:40 600 150.0 0. 294 S {Rige12:40 Fz (REAERSE)
13:10 600 150. 0 0. 294 E| {Rig013:10 Fzh (GREERSE)
13:40 600 150.0 0.294 E BRige13:40 Fz1 CGRAERESE)
14:10 600 150.0 0. 294 Sl Rige14:10 Fzh (RAERSE)
14:40 600 150. 0 0. 294 E BRige14:40 Fz1 CGRAERESE)
15:10 600 150.0 0.294 F[ BRige15:10 Fz1 CGRAERESE)
15:40 600 150.0 0. 294 5| Rike15:40 Fz) (REAERS)
16:10 600 150. 0 0. 294 El BRige16:10 Fz1 CGRAERESE)
16:40 600 150. 0 0. 294 = RiB016:40 Fzh (REAEESE)
17:10 600 150.0 0. 294 =l RRiB@17:10 Fzh (RFAKEEE)
23t 12000.0 (20%) 3000. 0 3EGHKEC: 2080.0, PH: 6.5

AREMTERA (0.91) , BEE

MERRHLEM 2 STREAERFT (265.0 :
BRIASERRIERE150. 0 ml.
RE X 13 [B] RECEUIE S sk

FEERECE (2197.0 vs 4620.0) i3
REXREBT I HEREC/PHER K, FIREFINIEAER K
LOREBIEC (2511.0) S5HEAEEY (2080.0) REKK, BHRE.

150.0), FIREKRREERE




P6AW_W1, Day=64 (2025-06-08)

] e 0 0 S S E
VI, VB3RV, ET - VI, VO, FVI, FVO, FRV, ad jFRV, ET 3000
100 L 6000
4760
L 4000
50 138
622 L 2000
4400 Warning: lcol [FVI',| "FVO’'] missing 2605
0 +—= — -0
600 4 =i —— mw P30
T FRV maxM
.E I 25
= 400 1 =
- L 20 =
— 200
(o'
[
1.0
U
0.8 -
0.6 -
0.4
0.2
Warning: lcol ["WC1',  "WC2'] missing
3000 - >
optEC0=2600. 0, setECB=2080.0 —¢—  ECBx10%
2750 - ® ECC
2500 - °
2250 -
2000 -
7.04 5ptPHO=6.5. setPHB=6.5 —¢ PHB*10%
® PHC
6.5t e e L ¥ T 5-----9 --------------
° ° ° °
6.0 - —x
5.5
°
1
- "9 BylInit @067 02:08: ET=1546 Fg=2080.0 Ro=678.0 4000
c 1
S 300 A i L 3000
N |
< 200 A i &—o—0—0 I
= I 2 2000
A I
= 100 - : L 1000
1
o g e @ 0
200 4.0 1 2 3 4 5 6 7 8 9 [ 10 [ 11 [ 12 [ 13 ] 14 [ 15 ] 16 | 17 ] 18 19 ] 20 21 | 22 [ 23
HHE HEE HEE Hi HHE HEE HEE Hi HHE HEE ES ES E3 E3 HEE ES E3 E3 ES ES E3 E3 ES ES 4000
’_D B B B B B B B B B B B B B B B B B B B B B B B B
= 1
£ 300 1 ByEt @D64 19:34: ET=1471 Fg=2198.0 Ro=nan I - 3000
\S_ y g /J\/\,
< 200 1 | &—e—0 |00
£
~ | //( I : I
= 100 o : 1000
0 2 4 2 2 I— S— 0
200 4.0 1 2 3 4 5 6 7 ) 9 [70 [T [ 12 [ 174 75 16 [ 17 [ 8] 19202l [22 237,
= i | g | B | BB || BB | 5| 5|5 | 5 | B 5 5 5 5 5 5 5 5 5 REREREEERS
c [
= 300 A ByWoFv @D67 02:08: ET=2480 Fg=3000.0 Ro=574.0 - 3000
£ 200 A | / \.\ L 2000
£
~—~ I
Sl T
I o
1.0 2 4 2 2 2= I_I_l\ I— —— 0
: 0 1 2 3 4 5 6 7 ) 9 [ 10 [ 11 [ 12 13 ] 14 [ 15 ] 16 [ 17 ] 18 [ 19 ] 20 [ 21 | 22 | 23
0ogl B | R | B5 [ | RE | 5 [ B5E [ RE | ”E | HS 5 5 | B | B | B 5 5 | B & 5 REREREEERS
0.6 -
0.4
0.2
1908 1 | A
[ ] | _obs
1000 —8— PPFD obs

500 -

e v P

i
©

1S
=
>

FR

cumET (ml/plant)

cumET (ml/plant)

cumET (ml/plant)



17.

17.

17.

17.

17.

17.

16.

16.

16.

16.

16.

14.

14.

14.

14.

14.

14.

18

17

16

15

14

M_W

T
400

T
600

860 10b0
m=655,n FV0=0

T
1200

90

88 -

86

84

82 ~

80 ~

6é0 665
m=845,n FV0=0

70

65

60

55 -

50 -

—0—

M_w

845

8é0 865
m=1145q FV0=0

30 A

28 -

26 A

24 -

22 -

20 -

—— MW

—
i

1145

1150 1155

18.

18.

18.

18.

18.

18.

17.

17.

17.

17.

17.

17.

16.

16.

16.

16.

16.

16.

14.

14.

14.

14.

14.

14.

60

58

56 -

54 -

52 -

50

60 -

58 -

56

54

52

50

30

28 -

26

24 -

22 A

20 -

30

28 -

26

24 -

22 -

20 -

m=365, FV0=0

—— MW

il

3%0 3%5
m=705,n FV0=0

M_W

7%0 7%5
m=890,n FV0=0

—o— MW

865 960
m=1150m FV0=0

890

- MW

1150 1155 1160

m=520, FV0=0
—— MW
19.0 A
18.5
0000000000000
18.0 A
17.5 4
T T T
520 525 530
m=750,m FV0=0
17. 30
17. 28 A
17. 26
17. 24 ~
17. 22
17. 20 ~ MW
T T T
750 755 760
m=940,m FV0=0
15. 80 -
15. 78 A
15.76
15. 74
15.72
15. 70 ~ MW
940 945 950
m=1155m FVO=0
14. 30 - MW
14. 25
14. 20 ~
14.15
14.10 ~
1155 1160 1165

18.

18.

18.

18.

18.

18.

17.

17.

17.

17.

17.

17.

15.

15.

14.

14.

14.

14.

14.

14.

14.

14.

14.

14.

20

18 1

16

14 4

12 4

10

10

08 -

06 -

04 -

02 -

00 -

25 A

00 -

75 -

90 A

25 A

00 -

20

18 4

16

14

12 4

10

m=585, FV0=0

-o— MW

5é0 5é5
m=795,n FV0=0

T
585

—0— MW

860 865
m=1100m FVO=0

T
795

—0— MW

i

11b5 11H0
m=1160m FV0=0

1100

- MW

1160 1165 1170



m=1170, FV0=0

14.10 -

14. 08

14. 06

14. 04

14. 02

14. 00

- MW

T
1170

T
1175

T
1180

13. 90 -

13. 88

13. 86 A

13. 84

13. 82 A

13. 80 A

m=1205, FVO0=0

—0—

M_W

T
1205

T
1210

T
1215

13.

13.

13.

13.

13.

13.

m=1245, FV0=0

70

68

66 -

64 -

62

60

——

M_Ww

T
1245

T
1250

T
1255




hour

10:
11:
11:
12:
12:
13:
13:
14:
14:
15:
15:
16:

© 00 O J O

100

80

- 60

- 40

§_

B W R
B B S
S QZ)\\ %\%}

%
S



PE6AW

BfiE) | GEBAK (D) | ERE (EA/K) | ERERE (B/R) | XS R

07:35 327 150.0 0.294 | 1Ri%e07:35 B (KREAERSR)
08:05 327 150.0 0.294 | 1Ri%e08:05 B (KFAEREE)
08:35 327 150.0 0.294 E[ 1BRi&e08:35 Bz (RFAEREE)
09:15 327 150. 0 0. 294 E| {Ri1g@09:15 Bzh (RE{ERSE)
09:45 327 150.0 0.294 =l {Rig@09:45 B (REAERSE)
10:15 327 150.0 0. 294 =l RRiB010:15 Bz (REAEESE)
10:45 327 150.0 0. 294 = RRiB010:45 Bz (REAKEE)
11:15 327 150. 0 0. 294 El BRige11:15 Bz GRAEREE)
11:45 327 150.0 0.294 = {Rige11:45 B3 (RAERSE)
12:15 327 150.0 0.294 Sl {Rige12:15 B3 (REAERSE)
12:45 327 150. 0 0. 294 E| {Rige12:45 Bzh (GRE{ERSE)
13:15 327 150.0 0.294 F BRige13:15 Bz CGRAERESE)
13:45 327 150.0 0.294 S| {Rig013:45 B (RAERSE)
14:15 327 150. 0 0. 294 E BRige14:15 Bz CGRAERESE)
14:45 327 150.0 0.294 F BRige14:45 Bz CGRAERESE)
15:15 327 150.0 0.294 | Ri%e15:15 B (REAERESE)
15:45 327 150. 0 0. 294 E BRige15:45 Bz (GRAERESE)
16:15 327 150.0 0. 294 =l Rige16:15 Bz (RAEESE)
24t]5886.0 (18)%) 2700. 0 32 KEC: 2080.0, PH: 6.5

EREFRRA (0.92) , HEE

MEREHER 2 STHAE RS (546.0 : 300.0), AIREKREERE
EOREBIRTC AR IRAE R 329 (600 vs 300.0))

BRIASERRIERE300. 0 ml.

#H[ERECE (2193.0 vs 4753.0) 5



P6AW W1, Day=63 (2025-06—07)

L1 e T e R e T T R R T
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J PHC

ET (ml/hr/plant)
cumET (ml/plant)

ET (ml/hr/plant)
cumET (ml/plant)

ET (ml/hr/plant)

5.5 -
! 4
400 1 Byinit @D67 02:08: ET=2644 Fg=3200. 0 Ro=566.0 " 4000
1
] 1
300 | L 3000
1
200 - : L 2000
1
100 : - 1000
0 g —e 0
0 1 2 3 2 5 6 7 8 9 [ 10 [ 11 | 12 [ 13 | 14 | 15 | 16 | 17 [ 18 | 19 [ 20 | 21 | 22 | 23
AWT s 5 || 5 |5 || 5| B || 5 | B | fis | 5 | BB | is | A5 | RE | Ais | A5 | RE | A5 | A5 | BE | A5 | 4000
1
300 4 ByEt @D63 19:34: ET=2470 Fg=3200.0 Ro=nan ) e e o | 3000
. _ ol o—eo—0—o
200 A I/(/ : - 2000
1
100 - o« i1 : L 1000
1
0 4 4 4 2 S = 0
0 1 2 3 7 5 6 7 8 9 [ 10 [ 11 | 12 [ 13 | 14 [ 15 | 16 | 17 [ 18 [ 19 [ 20 | 21 | 22 | 23
AWT s 5 | E | 5 |5 || 5 | B || /5 | BB | i5 | i5 | BB | is | A5 | RE | is | 5 | RE | A5 | A5 | BE | A5 | 4000
1
300 {—ByWoFv-@D67-02:08: ET=2156 Fg=2700. 0-Ro=505.0 L 3000
1
200 - : L 2000
1
100 : - 1000
2
1.0 45 - 5 3 0
0el M | B [ % [
0.6 -
0.4 -
0.2 -
0.0
1500 7 | 4
[ ] | _obs
1000 - PPFD_obs

RH
60 - [ ] RH_ObS
(] RHo_obs
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m=465, FV0=0 m=495, FV0=0 m=530, FV0=0

- MW 25.00 A - MW 25. 3 - MW 25. 4 4 - MW
24.95 A
25.2 - 25.3 A
24.90
24. 85 A 25.1 4 25.2 A
24. 80
25.0 - 25.1 -
24.75 A
24.70 24.9 25.0 A
T T T T T T T T T T T T T
600 800 1000 1200 465 470 475 495 500 505 530 535 540
m=575,m FV0=0 m=605,m FV0=0 m=645,m FV0=0 m=665,m FV0=0
- MW 24.90 A 24. 40 A - MW 24. 20 A - MW
24.88 24.38
24.15 A
24. 86 A 24. 36 A
24.10 A
24. 84 24. 34
24.05 A
24. 82 A 24. 32 A
24. 80 A MW 24. 30 A 24.00 A
T T T T T T T T T T T T
975 580 585 605 610 615 645 650 655 665 670 675
m=700,m FV0=0 m=725,m FV0=0 m=755,m FV0=0 m=785,m FV0=0
L - MW 23. 30 A - MW 22.90 A - MW 22. 40 - MW
23.25 A 22.85
22.35 A
23. 20 A 22. 80 A
23.15 A 22.75 A 22. 30 A
23.10 22.70
22. 25 A
23. 05 A 22. 65 A
23. 00 22.60 22.20 A
700 705 710 725 730 735 755 760 765 785 790 795
m=8195,m FV0=0 m=845,m FV0=0 m=875,m FV0=0 m=910,m FV0=0
- MW 21. 60 A - MW 21. 20 A . MW 20. 80 A ~ MW
21.55 A 21.15 A 20. 75 A
21.50 A 21.10 20.70 A
21. 45 A 21.05 A 20. 65 A
21. 40 21.00 20. 60
815 820 825 845 850 855 875 880 885 910 915 920



m=935, FV0=0

20. 50 A

20. 45 A

20. 40

20. 35 A

20. 30

20. 25 A

20. 20 A

—0—

MW

935

9&0
m=1165n FV0=0

T
945

19.5 ~

19.0

18.5 A

18. 0 A

—0—

M_W

T
1165

1130
m=1255n FV0=0

T
1175

18. 40

18. 38 ~

18. 36

18. 34

18. 32

18. 30 ~

—O—

M_W

1255

1260

1265

20.

19.

19.

19.

19.

18.

18.

18.

18.

18.

18.

18.

18.

18.

18.

18.

18.

00 A

95 -

90

85 -

80

40 ~

38 -

36

34 -

32

30

50

48 -

46 -

44 -

42 -

40 -

m=965, FV0=0
—— N
965 970 975
m=1215m FVO=0
—— MW
1215 1220 1225
m=1265m FV0=0
—— MW
1265 1270 1275

19.

19.

19.

19.

19.

18.

18.

18.

18.

18.

18.

m=995, FV0=0
7107 —— MW
65 -
60 -
55 -
50 -
T T T
995 1000 1005
m=1230m FV0=0
40 -
38 -
36 -
—— MW
34 -
32 -
30 4
T T T
1230 1235 1240

19.

19.

19.

19.

19.
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18.

40
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25 -

20

40 ~

38 -
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34 -

32

30 A

m=1025, FV0=0

—o—
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T
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1d30
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T
1035
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T
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T
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